
EQUATIONS

Conservation of Energy
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Entropy Balance

∆S =

2
∫

1

(δQ

T

)

b
+ σ ∆S =

∑

j

Qj

Tj

+ σ
dS

dt
=
∑

j

Q̇j

Tj

+ σ̇ (3)

dSC.V.

dt
=
∑

j

Q̇j

Tj

+
∑

i
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v = (1− x)vf + xvg (5)

R = 8.314kJ/kmole ·K R = 1545ft · lbf/lbmol ·◦ R R = 1.986Btu/lbmol ·◦ R (6)
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Tds = du+ pdv Tds = dh− vdp (10)

T (◦F ) = T (◦R)− 459.671Btu = 778.17ft · lbf 1lbf = 32.174lb · ft/s
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1J = 0.73756ft · lbf (11)

Isentropic Relations, Ideal Gas
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Isentropic Relations, Ideal Gas, Constant Specific Heats
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Ideal Gas
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Isentropic Efficiencies
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